

Growth of solutions of a class of linear differential equations with entire coefficients

Saada Hamouda

ABSTRACT. In this paper we will investigate the growth of solutions of the linear differential equation

$$f^{(n)} + P_{n-1}(z)e^z f^{(n-1)} + \cdots + P_0(z)e^z f = 0$$

where P_0, \dots, P_{n-1} are polynomials.

CONTENTS

Introduction	737
1. Statement of results	740
2. Preliminary lemmas	741
3. Proof of Theorem 1.1	744
4. Proof of Theorem 1.3	745
5. Proof of Theorem 1.5	746
References	746

Introduction

Throughout this paper, we assume that the reader is familiar with the fundamental results and the standard notations of the Nevanlinna value distribution theory (see [5], [6]).

For $n \geq 2$, we consider the linear differential equation

$$(0.1) \quad f^{(n)} + A_{n-1}(z) f^{(n-1)} + \cdots + A_0(z) f = 0$$

where $A_0(z), \dots, A_{n-1}$ are entire functions with $A_0(z) \not\equiv 0$. It is well known that all solutions of (0.1) are entire functions. A classical result, due to Wittich [7], says that all solutions of (0.1) are of finite order of growth if and only if all coefficients are polynomials. For a complete analysis of possible orders in the polynomial case, see [3]. If some (or all) of the coefficients of (0.1) are transcendental, a natural question is to ask when and how many

Received April 7, 2010.

2000 *Mathematics Subject Classification*. Primary 34M10; Secondary 30D35.

Key words and phrases. Linear differential equations, growth of solutions, finite order.

linearly independent solutions of finite order may appear? Partial results have been available since the paper of Frei [1], which says that if p is the largest integer such that $A_p(z)$ is transcendental, then there can exist at most p linearly independent finite order solutions of the differential equation (0.1). Recently, in a paper to appear [4], I investigated the growth of solutions of the differential equation

$$(0.2) \quad f^{(n)} + A_{n-1}(z) e^z f^{(n-1)} + \cdots + A_0(z) e^z f = 0;$$

I proved that if $A_0(z)$ is transcendental entire function of order $\sigma(f) = 0$ and $A_1(z), \dots, A_{n-1}(z)$ are polynomials, then every non trivial solution of (0.2) has infinite order. So, a natural question is to consider the case when all $A_j(z)$, $j = 0, \dots, n-1$, are polynomials. This question is our investigation in this paper.

We will see that there are similarities and differences between the following differential equations

$$(0.3) \quad f^{(n)} + P_{n-1}(z) e^z f^{(n-1)} + \cdots + P_0(z) e^z f = 0,$$

$$(0.4) \quad f^{(n)} + P_{n-1}(z) f^{(n-1)} + \cdots + P_0(z) f = 0,$$

where $P_0(z) \not\equiv 0, \dots, P_{n-1}(z)$ are polynomials.

From [1], (0.3) has at least one solution of infinite order. While, (0.3) may have a polynomial solution: for example $f(z) = z$ is a solution of the differential equation $f'' + ze^z f' - e^z f = 0$.

As in [3], we define a strictly decreasing finite sequence of nonnegative integers

$$(0.5) \quad s_1 > s_2 > \cdots > s_p \geq 0$$

in the following manner. We choose s_1 to be the unique integer satisfying

$$(0.6) \quad \frac{d_{s_1}}{n - s_1} = \max_{0 \leq k \leq n-1} \frac{d_k}{n - k} \quad \text{and} \quad \frac{d_{s_1}}{n - s_1} > \frac{d_k}{n - k} \quad \text{for all } 0 \leq k < s_1;$$

where $d_j = \deg P_j$ if $P_j \not\equiv 0$ and for convenience $d_j = -\infty$ if $P_j \equiv 0$, $0 \leq j \leq n-1$.

Then given s_j , $j \geq 1$, we define s_{j+1} to be the unique integer satisfying

$$(0.7) \quad \frac{d_{s_{j+1}} - d_{s_j}}{s_j - s_{j+1}} = \max_{0 \leq k < s_j} \frac{d_k - d_{s_j}}{s_j - k} > -1 \quad \text{and} \\ \frac{d_{s_{j+1}} - d_{s_j}}{s_j - s_{j+1}} > \frac{d_k - d_{s_j}}{s_j - k} \quad \text{for all } 0 \leq k < s_{j+1}.$$

For a certain p , the integer s_p will exist, but the integer s_{p+1} will not exist, and then the sequence s_1, s_2, \dots, s_p terminates with s_p . Obviously, $p \leq n$, and we also see that (0.5) holds.

Correspondingly, define for $j = 1, 2, \dots, p$,

$$(0.8) \quad \alpha_j = 1 + \frac{d_{s_j} - d_{s_{j-1}}}{s_{j-1} - s_j},$$

where we set

$$(0.9) \quad s_0 = n \quad \text{and} \quad d_{s_0} = d_n = 0.$$

From (0.7) and (0.8), we observe that $\alpha_j > 0$ for each $j, 1 \leq j \leq p$.

We mention that the integers s_1, s_2, \dots, s_p can also be expressed in the following manner:

$$s_1 = \min \left\{ j : \frac{d_j}{n-j} = \max_{0 \leq k \leq n-1} \frac{d_k}{n-k} \right\};$$

and given $s_j, j \geq 1$, we have

$$s_{j+1} = \min \left\{ i : \frac{d_i - d_{s_j}}{s_j - i} = \max_{0 \leq k < s_j} \frac{d_k - d_{s_j}}{s_j - k} > -1 \right\}.$$

We denote by $n' \leq n - 1$ the largest integer such that $P_{n'}(z) \not\equiv 0$ in (0.3) in all this paper. If $n' \geq 1$ we define, as above, a strictly decreasing finite sequence of nonnegative integers

$$s'_1 > s'_2 > \dots > s'_q \geq 0,$$

as follows:

$$\begin{aligned} \frac{d_{s'_1} - d_{n'}}{n' - s'_1} &= \max_{0 \leq k \leq n'-1} \frac{d_k - d_{n'}}{n' - k} > -1 \quad \text{and} \\ \frac{d_{s'_1} - d_{n'}}{n' - s'_1} &> \frac{d_k - d_{n'}}{n' - k} \quad \text{for all } 0 \leq k < s'_1. \end{aligned}$$

Then given $s'_j, j \geq 1$, we define s'_{j+1} to satisfy

$$\begin{aligned} \frac{d_{s'_{j+1}} - d_{s'_j}}{s'_j - s'_{j+1}} &= \max_{0 \leq k < s'_j} \frac{d_k - d_{s'_j}}{s'_j - k} > -1 \quad \text{and} \\ \frac{d_{s'_{j+1}} - d_{s'_j}}{s'_j - s'_{j+1}} &> \frac{d_k - d_{s'_j}}{s'_j - k} \quad \text{for all } 0 \leq k < s'_{j+1}. \end{aligned}$$

As above, this sequence terminates with s'_q , and obviously we have $q \leq n'$.

Correspondingly, define for $j = 1, \dots, q$

$$(0.10) \quad \alpha'_j = 1 + \frac{d_{s'_j} - d_{s'_{j-1}}}{s'_{j-1} - s'_j},$$

where we set $s'_0 = n'$, and we have also

$$\alpha'_1 > \alpha'_2 > \dots > \alpha'_q > 0.$$

In [3], G. Gundersen, E. Steinbart and S. Wang proved the following:

Theorem 0.1 ([3]). *For equation (0.4), the following conclusions hold:*

- (i) *If f is a transcendental solution of (0.4), then $\sigma(f) = \alpha_j$ for some $j, 1 \leq j \leq p$.*

(ii) If $s_1 \geq 1$ and $p \geq 2$, then the following inequalities hold:

$$\alpha_1 > \alpha_2 > \cdots > \alpha_p \geq \frac{1}{s_{p-1} - s_p} \geq \frac{1}{s_1 - s_p} \geq \frac{1}{s_1}.$$

(iii) If $s_1 = 0$, then any nontrivial solution f of (0.4) satisfies $\sigma(f) = 1 + \frac{d_0}{n}$.

In this paper, we will give the possible orders of solutions of (0.3). We also give related results.

1. Statement of results

Theorem 1.1. *If (0.3) admits a transcendental solution of finite order α then*

$$\alpha \in \{\alpha_1, \alpha_2, \dots, \alpha_p\} \cup \{\alpha'_1, \alpha'_2, \dots, \alpha'_q\},$$

where $\alpha_1, \alpha_2, \dots, \alpha_p, \alpha'_1, \alpha'_2, \dots, \alpha'_q$ are defined in (0.8) and (0.10).

Remark 1.2. It may happen that some values of $\{\alpha'_1, \alpha'_2, \dots, \alpha'_q\}$ are equal to some values of $\{\alpha_1, \alpha_2, \dots, \alpha_p\}$, and globally we have at most n distinct values. More precisely, if $s_1 = n'$, then $\alpha_{1+k} = \alpha'_k$ for every integer k , $1 \leq k \leq q$; and if $s_1 \neq n'$ and $s_i = s'_j$ for some integers i, j then $\alpha_{i+k} = \alpha'_{j+k}$ for every integer k , $1 \leq k \leq q - j$.

For example: if $n = 3$, $d_0 = 4$, $d_1 = 3$, $d_2 = 1$, then $p = 2$, $\alpha_1 = \frac{5}{2}$, $\alpha_2 = 2$ and $q = 2$, $\alpha'_1 = 3$, $\alpha'_2 = 2$.

Theorem 1.3. *If $s_1 = 0$, then every nontrivial solution of (0.3) satisfies*

$$\sigma(f) \geq 1 + \frac{d_0}{n}.$$

A natural question is: are there cases of (0.3) when every nontrivial solution has infinite order. The answer is positive as indicated by the following example.

Example 1.4. Every nontrivial solution of the differential equation

$$f^{(n)} + P_0(z) e^z f = 0,$$

has infinite order, where $P_0(z) \not\equiv 0$ is a polynomial. In fact, if we suppose that $f \not\equiv 0$ is of finite order then by looking at $e^z = -\frac{1}{P_0(z)} \frac{f^{(n)}}{f}$, we conclude that $T(r, e^z) = O(\log r)$, a contradiction.

Theorem 1.5. *If $s_p = 0$, then there is no polynomial solutions $f \not\equiv 0$ of (0.3).*

2. Preliminary lemmas

Lemma 2.1 ([3]). *For any fixed $j = 0, 1, \dots, p-1$, let α be any real number satisfying $\alpha > \alpha_{j+1}$, and let k be any integer satisfying $0 \leq k < s_j$. Then*

$$n - k + d_k + k\alpha < n - s_j + d_{s_j} + s_j\alpha.$$

Lemma 2.2 ([3]). *For any fixed $j = 1, \dots, p$, let α be any real number satisfying $\alpha < \alpha_j$, and let k be any integer satisfying $s_j < k \leq n$. Then*

$$n - k + d_k + k\alpha < n - s_j + d_{s_j} + s_j\alpha.$$

Lemma 2.3 ([3]). *Let $\alpha > 0$. Then for any integer k satisfying $0 \leq k < s_p$, we have*

$$n - k + d_k + k\alpha < n - s_p + d_{s_p} + s_p\alpha.$$

Lemma 2.4. *Let α be any real number satisfying $\alpha > \alpha_1$, and k be any integer satisfying $0 \leq k < s_1$. Then*

$$n - k + d_k + k\alpha < n - s_1 + d_{s_1} + s_1\alpha.$$

Proof. We have

$$n - k + d_k + k\alpha = n - s_1 + d_{s_1} + s_1\alpha + \alpha(k - s_1) + d_k - d_{s_1} + s_1 - k,$$

and since $\alpha > \alpha_1$ and $0 \leq k < s_1$ we obtain

$$n - k + d_k + k\alpha < n - s_1 + d_{s_1} + s_1\alpha + \alpha_1(k - s_1) + d_k - d_{s_1} + s_1 - k.$$

And we have

$$\begin{aligned} & \alpha_1(k - s_1) + d_k - d_{s_1} + s_1 - k \\ &= \left(1 + \frac{d_{s_1}}{n - s_1}\right)(k - s_1) - \frac{d_k}{n - k}(k - n) \\ & \quad - (k - s_1) - d_{s_1} \\ &= \left(\frac{d_{s_1}}{n - s_1}\right)(k - s_1) - \frac{d_k}{n - k}(k - s_1 + s_1 - n) - d_{s_1} \\ &= \left(\frac{d_{s_1}}{n - s_1} - \frac{d_k}{n - k}\right)(k - s_1) + \left(\frac{d_{s_1}}{n - s_1} - \frac{d_k}{n - k}\right)(s_1 - n) \\ &= \left(\frac{d_{s_1}}{n - s_1} - \frac{d_k}{n - k}\right)(k - n). \end{aligned}$$

From the definition of s_1 in (0.6), we obtain

$$\left(\frac{d_{s_1}}{n - s_1} - \frac{d_k}{n - k}\right)(k - n) < 0,$$

for $0 \leq k < s_1$. Thus, we deduce that

$$n - k + d_k + k\alpha < n - s_1 + d_{s_1} + s_1\alpha,$$

for $0 \leq k < s_1$. □

Lemma 2.5. *Let α be any real number satisfying $\alpha > \alpha_1$, and k be any integer satisfying $0 \leq k < n'$ (n' is the largest integer such that $P_{n'}(z) \neq 0$ in (0.3)). If $s_1 < n'$ and $\frac{d_{s_1}}{n - s_1} = \frac{d_{n'}}{n - n'}$, then we have*

$$n - k + d_k + k\alpha < n - n' + d_{n'} + n'\alpha.$$

Proof. We have

$$n - k + d_k + k\alpha = n - n' + d_{n'} + n'\alpha + \alpha(k - n') + d_k - d_{n'} + n' - k,$$

and since $\alpha > \alpha_1$ and $0 \leq k < n'$ we obtain

$$n - k + d_k + k\alpha < n - n' + d_{n'} + n'\alpha + \alpha_1(k - n') + d_k - d_{n'} + n' - k;$$

and we have

$$\begin{aligned} & \alpha_1(k - n') + d_k - d_{n'} + n' - k \\ &= \frac{d_{s_1}}{n - s_1}(k - n') + d_k - d_{n'} \\ &= \frac{d_{s_1}}{n - s_1}(k - n) + \frac{d_{s_1}}{n - s_1}(n - n') + d_k - d_{n'} \\ &= \frac{d_{s_1}}{n - s_1}(k - n) + \frac{d_{n'}}{n - n'}(n - n') + d_k - d_{n'} \\ &= \frac{d_{s_1}}{n - s_1}(k - n) + d_k \\ &= \left(\frac{d_{s_1}}{n - s_1} - \frac{d_k}{n - k} \right) (k - n) \leq 0, \end{aligned}$$

for any k satisfying $0 \leq k < n'$. Thus, we deduce that

$$n - k + d_k + k\alpha < n - n' + d_{n'} + n'\alpha. \quad \square$$

Lemma 2.6. *If $s_1 < n'$ and $\frac{d_{s_1}}{n - s_1} > \frac{d_{n'}}{n - n'}$, then $\alpha'_1 > \alpha_1$.*

Proof. We have the following equivalences:

$$\begin{aligned} \frac{d_{s_1}}{n - s_1} > \frac{d_{n'}}{n - n'} & \Leftrightarrow d_{s_1} - \frac{n' - s_1}{n - s_1} d_{s_1} > d_{n'} \\ & \Leftrightarrow d_{s_1} - d_{n'} > \frac{n' - s_1}{n - s_1} d_{s_1} \\ & \Leftrightarrow \frac{d_{s_1} - d_{n'}}{n' - s_1} > \frac{d_{s_1}}{n - s_1}. \end{aligned}$$

Which implies that

$$\max_{0 \leq k < n'} \frac{d_k - d_{n'}}{n' - k} > \frac{d_{s_1}}{n - s_1},$$

and so

$$\alpha'_1 > \alpha_1. \quad \square$$

Lemma 2.7. *If $\alpha'_1 > \alpha_1$, then for $\alpha > \alpha'_1$ and $0 \leq k < n'$, we have*

$$n - k + d_k + k\alpha < n - n' + d_{n'} + n'\alpha.$$

Proof. We have

$$n - k + d_k + k\alpha = n - n' + d_{n'} + n'\alpha + \alpha(k - n') + d_k - d_{n'} + n' - k,$$

and since $\alpha > \alpha'_1$ and $0 \leq k < n'$ we obtain

$$n - k + d_k + k\alpha < n - n' + d_{n'} + n'\alpha + \alpha'_1(k - n') + d_k - d_{n'} + n' - k;$$

and we have

$$\begin{aligned} \alpha'_1(k - n') + d_k - d_{n'} + n' - k &= \left(\frac{d_{s'_1} - d_{n'}}{n' - s'_1} \right) (k - n') + d_k - d_{n'} \\ &= \left(\frac{d_{s'_1} - d_{n'}}{n' - s'_1} - \frac{d_k - d_{n'}}{n' - k} \right) (k - n') \leq 0, \end{aligned}$$

for any k satisfying $0 \leq k < n'$. Thus, we deduce that

$$n - k + d_k + k\alpha < n - n' + d_{n'} + n'\alpha. \quad \square$$

By using the same proofs as for Lemma 2.1 and Lemma 2.2, we can obtain the two following lemmas:

Lemma 2.8. *For any fixed $j = 0, 1, \dots, q - 1$, let α be any real number satisfying $\alpha > \alpha'_{j+1}$, and let k be any integer satisfying $0 \leq k < s'_j$. Then*

$$n - k + d_k + k\alpha < n - s'_j + d_{s'_j} + s'_j\alpha.$$

Lemma 2.9. *For any fixed $j = 1, \dots, q$, let α be any real number satisfying $\alpha < \alpha'_j$, and let k be any integer satisfying $s'_j < k \leq n'$. Then*

$$n - k + d_k + k\alpha < n - s'_j + d_{s'_j} + s'_j\alpha.$$

Lemma 2.10 ([3]). *Suppose that $s_m + 1 \leq k < n$ for two positive integers m and k . Then*

$$d_k \leq d_{s_{m-1}} + (s_{m-1} - k)(\alpha_m - 1).$$

Lemma 2.11 ([2]). *Let $f \not\equiv 0$ be a meromorphic function of finite order β , and let $k \geq 1$ be an integer. Then for any given $\varepsilon > 0$, we have*

$$\left| \frac{f^{(k)}(z)}{f(z)} \right| \leq |z|^{k(\beta-1)+\varepsilon},$$

where $|z| \notin [0, 1] \cup E$, E is a set in $(1, \infty)$ that has finite logarithmic measure.

3. Proof of Theorem 1.1

Suppose that (0.3) admits a transcendental entire solution f of finite order $\sigma(f) = \alpha$.

From (0.3), we can write

$$(3.1) \quad e^{-z} \frac{f^{(n)}}{f} + P_{n-1}(z) \frac{f^{(n-1)}}{f} + \cdots + P_1(z) \frac{f'}{f} + P_0(z) = 0.$$

If $V(r)$ denotes the central index of f , then

$$(3.2) \quad V(r) = (1 + o(1)) Cr^\alpha,$$

as $r \rightarrow \infty$, where C is a positive constant. In addition, from the Wiman-Valiron theory it follows that there exists a set $E \subset (1, \infty)$ that has finite logarithmic measure, such that for all $j = 1, 2, \dots, n$ we have

$$(3.3) \quad \frac{f^{(j)}(z_r)}{f(z_r)} = (1 + o(1)) \left(\frac{V(r)}{z_r} \right)^j$$

as $r \rightarrow \infty$, $r \notin E$, where z_r is a point on the circle $|z| = r$ that satisfies $|f(z_r)| = \max_{|z|=r} |f(z)|$, $0 < r < \infty$.

Let b_k denote the leading coefficient of the polynomial $P_k(z)$, and set $a_k = C^k |b_k|$, where $C > 0$ is the constant in (3.2) and set $a_n = C^n$.

Substituting (3.2) and (3.3) in (3.1) and multiplying the both side by z_r^n , we get an equation whose the left side consists of a sum of $n+1$ terms whose moduli are asymptotic (as $r \rightarrow \infty$, $r \notin E$) to the following $n+1$ terms:

$$(3.4) \quad e^{-r \cos \theta_r} a_n r^{n\alpha}, a_{n-1} r^{1+d_{n-1}+(n-1)\alpha}, \dots, a_k r^{n-k+d_k+k\alpha}, \dots, a_0 r^{n+d_0}.$$

We discuss three cases according to the limit of $e^{-r \cos \theta_r}$.

Case 1. $\overline{\lim}_{r \rightarrow \infty} e^{-r \cos \theta_r} = \infty$. In this case, $e^{-r \cos \theta_r} a_n r^{n\alpha}$ is the unique dominant term (as $r \rightarrow \infty$, $r \notin E$) in (3.4). This is impossible.

Case 2. $\overline{\lim}_{r \rightarrow \infty} e^{-r \cos \theta_r} = c$ where $0 < c < \infty$. If $\alpha_{j+1} < \alpha < \alpha_j$ for some $j = 1, \dots, p-1$, Then from Lemma 2.1 and Lemma 2.2, we have

$$n - k + d_k + k\alpha < n - s_j + d_{s_j} + s_j\alpha,$$

for any $k \neq s_j$, then $a_{s_j} r^{n-s_j+d_{s_j}+s_j\alpha}$ is the unique dominant term (as $r \rightarrow \infty$, $r \notin E$) in (3.4). This is impossible also. Now if $0 < \alpha < \alpha_p$ then from Lemma 2.2 and Lemma 2.3, we have

$$n - k + d_k + k\alpha < n - s_p + d_{s_p} + s_p\alpha,$$

for any $k \neq s_p$, then $a_{s_p} r^{n-s_p+d_{s_p}+s_p\alpha}$ is the unique dominant term (as $r \rightarrow \infty$, $r \notin E$) in (3.4). This gives a contradiction in (3.1). Finally if $\alpha > \alpha_1$ then from Lemma 2.1, we have

$$(3.5) \quad n - k + d_k + k\alpha < n\alpha,$$

for any $0 \leq k < n$; so $e^{-r \cos \theta_r} a_n r^{n\alpha}$ is the unique dominant term (as $r \rightarrow \infty$, $r \notin E$) in (3.4). Also, this leads to a contradiction in (3.1).

Case 3. $\overline{\lim}_{r \rightarrow \infty} e^{-r \cos \theta_r} = 0$. If $0 < \alpha < \alpha_p$ or $\alpha_{j+1} < \alpha < \alpha_j$ for some $j = 1, \dots, p-1$, we find the same contradiction as in Case 2. Now if $\alpha > \alpha_1$, although we have (3.5), $e^{-r \cos \theta_r} a_n r^{n\alpha}$ is not the dominant term because

$$\lim_{r \rightarrow \infty} e^{-r \cos \theta_r} a_n r^{n\alpha} = 0.$$

If $s_1 = n'$, then from Lemma 2.4, we have

$$n - k + d_k + k\alpha < n - n' + d_{n'} + n'\alpha,$$

for any $0 \leq k < n'$. So, there exists only one dominant term in (3.4) (as $r \rightarrow \infty, r \notin E$). A contradiction.

If $s_1 < n'$ and $\frac{d_{s_1}}{n - s_1} = \frac{d_{n'}}{n - n'}$, then from Lemma 2.5, we have

$$n - k + d_k + k\alpha < n - n' + d_{n'} + n'\alpha,$$

for any $0 \leq k < n'$. As above, there exists one dominant term in (3.4) (as $r \rightarrow \infty, r \notin E$), which leads to a contradiction.

If $s_1 < n'$ and $\frac{d_{s_1}}{n - s_1} > \frac{d_{n'}}{n - n'}$, then from Lemma 2.6, we have $\alpha'_1 > \alpha_1$.

Now we will use the sequence $\alpha'_1, \alpha'_2, \dots, \alpha'_q$. If $0 < \alpha < \alpha'_q$ or $\alpha'_{j+1} < \alpha < \alpha'_j$ for some $j = 1, \dots, q - 1$, by using Lemma 2.8 and Lemma 2.9, we find the same previous contradiction. Now if $\alpha > \alpha'_1$, from the Lemma 2.7, we have

$$n - k + d_k + k\alpha < n - n' + d_{n'} + n'\alpha,$$

for any $0 \leq k < n'$. As above, this gives a contradiction.

Thus, the possible values of α are $\{\alpha_1, \alpha_2, \dots, \alpha_p\} \cup \{\alpha'_1, \alpha'_2, \dots, \alpha'_q\}$.

4. Proof of Theorem 1.3

Suppose to the contrary that there exists a non trivial solution f of (0.3) which satisfies $\sigma(f) = \beta < 1 + \frac{d_0}{n}$. Then, we can write

$$(4.1) \quad \beta = 1 + \frac{d_0}{n} - \tau,$$

where τ is a positive constant.

Since $s_1 = 0$, from (0.6) we have

$$(4.2) \quad d_k \leq \frac{n - k}{n} d_0, \quad k = 1, 2, \dots, n - 1.$$

From (0.3) we can write

$$(4.3) \quad -P_0(z) = e^{-z} \frac{f^{(n)}}{f} + P_{n-1}(z) \frac{f^{(n-1)}}{f} + \dots + P_1(z) \frac{f'}{f}.$$

By taking $\arg z \in (0, \frac{\pi}{2})$, we can get $|e^{-z}| < 1$; and from Lemma 2.11 and (4.3), we obtain

$$(4.4) \quad |P_0(z)| < \sum_{k=1}^n |z|^{d_k + k(\beta-1) + \varepsilon},$$

where $|z|$ large enough ($|z| \notin E$) and $d_n = 0$.

From (4.4), (4.2) and (4.1), we get

$$|P_0(z)| < \sum_{k=1}^n |z|^{d_0 - k\tau + \varepsilon} < n |z|^{d_0 - \tau + \varepsilon},$$

where $|z|$ is sufficiently large ($|z| \notin E$). This is not possible if we choose $0 < \varepsilon < \tau$. Thus $\sigma(f) \geq 1 + \frac{d_0}{n}$.

5. Proof of Theorem 1.5

Suppose that $f \neq 0$ is a polynomial solution of (0.3).

From (0.3), we can write

$$-P_0(z) = e^{-z} \frac{f^{(n)}}{f} + P_{n-1}(z) \frac{f^{(n-1)}}{f} + \cdots + P_1(z) \frac{f'}{f},$$

which implies that f must be of degree at most $n - 1$. So we get

$$(5.1) \quad -P_0(z) = P_{n-1}(z) \frac{f^{(n-1)}}{f} + \cdots + P_1(z) \frac{f'}{f}.$$

It follows from (5.1) that

$$(5.2) \quad d_0 \leq \max_{1 \leq k \leq n-1} \{d_k - k\}.$$

By Lemma 2.10, we have

$$(5.3) \quad d_k \leq d_{s_{p-1}} + (s_{p-1} - k)(\alpha_p - 1),$$

for all $k = 1, \dots, n - 1$, since $s_p = 0$. Therefore, from (5.3), the definition of α_p in (0.8), and the fact that $s_p = 0$, we obtain for any $1 \leq k \leq n - 1$,

$$(5.4) \quad \begin{aligned} d_k - k &\leq d_{s_{p-1}} - k + (s_{p-1} - k)(\alpha_p - 1) \\ &\leq d_0 + \frac{k}{s_{p-1}} (d_{s_{p-1}} - d_0 - s_{p-1}). \end{aligned}$$

Since $\alpha_p > 0$ and $s_p = 0$, it follows from the definition of α_p in (0.8) that $d_{s_{p-1}} < s_{p-1} + d_0$. Hence from (5.4), we obtain $d_k - k < d_0$ for all $1 \leq k \leq n - 1$. But this contradicts (5.2). This completes the proof of Theorem 1.5.

References

- [1] FREI, M. Sur l'ordre des solutions entières d'une équation différentielle linéaire. *C. R. Acad. Sci. Paris* **236** (1953) 38–40. MR0051984 (14,556d), Zbl 0050.08902.
- [2] GUNDERSEN, GARY G. Estimates for the logarithmic derivative of a meromorphic function, plus similar estimates. *J. London Math. Soc.* (2) **37** (1988) 88–104. MR0921748 (88m:30076), Zbl 0638.30030.
- [3] GUNDERSEN, GARY G.; STEINBART, ENID M.; WANG, SHUPEI. The possible orders of solutions of linear differential equations with polynomial coefficients. *Trans. Amer. Math. Soc.* **350** (1998) 1225–1247. MR1451603 (98h:34006), Zbl 0893.34003.
- [4] HAMOUDA, SAADA. Finite and infinite order solutions of a class of higher order linear differential equations. *Austral. J. Math. Analysis and Applications*, to appear.

- [5] HAYMAN, W. K. Meromorphic functions. Oxford Mathematical Monographs. *Clarendon Press, Oxford*, 1964. xiv+191 pp. MR0164038 (29 #1337), Zbl 0115.06203.
- [6] LAINE, ILPO. Nevanlinna theory and complex differential equations. de Gruyter Studies in Mathematics, 15. *Walter de Gruyter & Co., Berlin*, 1993. viii+341 pp. ISBN: 3-11-013422-5. MR1207139 (94d:34008), Zbl 0784.30002.
- [7] WITTICH, HANS. Neuere Untersuchungen über eindeutige analytische Funktionen. Zweite, korrigierte Auflage. *Ergebnisse der Mathematik und ihrer Grenzgebiete*, 8. *Springer-Verlag, Berlin-New York*, 1968. viii+163 pp. MR0244490 (39 #5804), Zbl 0159.10103.

DEPARTMENT OF MATHEMATICS, LABORATORY OF PURE AND APPLIED MATHEMATICS,
UNIVERSITY OF MOSTAGANEM, B.P. 227 MOSTAGANEM, ALGERIA
`hamouda.saada@yahoo.fr`

This paper is available via <http://nyjm.albany.edu/j/2010/16-28.html>.